*M 7 £ 9 A HERXR (X®i/M

= 38 4ok 4= oz} L300, L 10
H/kzH FRITE (9:00~12:00) (12:00~15:00) | (15:00~18:00) il

1 A

2 N |BEsEA (2 - 38 KIZ/NR A (1685~)
3 7K

4 A BE (9F-)

5 £ | IB&E (Fit°)

6 |+
7 H K2 &lE RKIB/INR 1 -MT UN=IN by
8 A

9 PN KIZ/NR 4 (1685~)
10 | /K&

11 /N

12 £ (16Bf~) BEHE
13 | £ 1 =T UN-YN by KIZINR T Kg&E

14 H KIDEE KIB/INR 4 1 =T Un=YnT by
15 | B |[#&0B8 (24A8) Kig&lE KIB/INR 4 3 =T YN by
16 | X

17 | K

18 | K |#&2iKkiT (1BH)

19 | € |B2FiKkiT (2BH) (1685 ~) BEHE
20 | & 3 =T un=yn by PN AV & KIg&E

21 = XEDH

22 | B |#ooB (AKA8) KI2&IE KIZINR T 3 -bT UNYN b
23 PN KIZ/NR 4 (1685~)
24 | K

25 | K

26 £ BEEZASHT (PTA
27 | 3 =W Un=yn by P AV & KIg&E

28 H KIZ&E|E KIZ/NR 4 1 =0T U by
29 A

30 X RIE/ANRY (168F~)

* A4 AIE3EARD2[mI DY £,
HAR—VDEM] (RIGI=/S27 R R/E 3 8) OIFENT, BIZ3H ETLER>TWET DT,
THIBELIZE N,




